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ECONOMICS

[Honburs ]
PAPER -V
Full Marks : 90 -_ |
Time : 4 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary
Use separate script for each Half
[NEW SYLI.ABUS ] '

[FIRSTHALF]
(Public Economics and Environment Economics )

[ Marks : 45 ]
GROUP - A

Answer any five questions: L 2x%3

( Twrre Over )



1. (a)
(b)

()

(e)

2
)

(h)

(2)

What is revenue deficit ?

What is the free-rider problem ?

Distinguish between private good and
public good.

Distinguish between use value and non-use
value of environmental resource.

What is the difference between internally
held public debt and external pubtic debt ?

What do you mean by regressive taxation ?

Give examples of positive and negatlve
externalities in production.

Under what condition the value of Balanced
Budget Muitiplier is greater then one ?

GROUP - B

Answer any three questions : $5x%x3

2. Discuss the merits and demerits of the benefit
principle of taxation.
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3. Discuss the effect of ad valorem tax on price and
output in a competitive market. f

4. Write a note on optimal level of pollution.

yq

What is GST 7 Explain the advantages of GST.

6. On what factors does the sharing of burden of 2
sales tax between the buyers and the sellers
depend in 2 competitive market.

7. Explain the concepts of horizontal equity and
vertical equity under the Ability to Pay principle
of taxation.

GROUP -C

Answer any two questions : " 10x2

8. "The equai sacrifice principle implies progressive
taxation.” Do you agree withthe view? Give
reasons for your answer.

9, Critically discuss the solution proposed by Lindah!
regarding the optimal provision of public good.

|
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10. Compare the effects of income tax and an equal
yield expenditure tax on the work incentive of a
typical worker.

I1. Do you think that an indirect tax imposes an
excess burden on a typical consumer compared
with direct tax of equal yield ? Discuss.

[ SECOND HALF]
(Mathematical Economics )
[ Marks : 45 ]
GROUP - A

Answer any five questions : 2x 5
1. (a) Whatdo youmean by surplus variables ?
(b) Whatis profitability index ?

(c) Whatis investment multipliér ? Explain
mathematically.

(d) What is acceleration co-efficient ?
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(e) Whatis IRR (Internal Rate of Return) ?

(/) Find the marginal and average cost ﬁx‘:nction
from the following total cost function :
C=30*+70+12.

(g) Prove that the elasticity of substitution of
Cobb-Douglas production function is unity.
|

(h) Assuming that an entrepreneur's short-run
cost function is i
C=q%-10g%+ 17g + 66.
Determine the profit-maximising output
level if P=S5. _ |

(i) What is the difference between pril‘hal and
dual problem in LPP ?

(/) Let the demand and supply functlons are as
follows :
D=a-fp+ Sd—f,S = -y +8p; (a,B,v,S >0)

Assuming that the rate of charge of price is
directly proportional to the excess demand,
fmd time path p(7).
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‘GROUP ~B

Answer any three questions : Sx3

2. Check whether the following production
function is homogeneous or not
Q=logd+ e« logL+(] -x}log K
(0 <x <], 4>0) '
Comment on the nature of expansion path for this
production function.

3. Assume that the rate of investment is given

by ‘
I(6)=12¢" and K (0) =25

Find the time path of capital stock K and the
amount of capital accumulation during the time
interval [1, 3].

4. Given the demand and supply for the Cobweb
model as follows :

Q,=18-3P,
Q,=-3+4P_

Find the intertemporal equilibrium price and
determine whether the economy is stable,or not
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5, Consider the macro-economic mtodel

C=89+06y
[=120-1507
M, =275

M, =240+ 0-1y - 250r

Determine equilibrium valuesof y and r ‘and
derive IS and LM equations.

6. Given the input-output matrix as

0-3 0-2

6-5 0-1
and the labour coefficients as [0-3, 0-5], find the-
consumption possibility locus for 100 units of

labour.

7. Distinguish between leontief open and closed
model. | '
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GROUP — C
Answer any two questions 10x2

() Explain what do you mean by basic and non-
basic variables in LPP.

(if) Solve the following L.P.P. by Simplex
method :
- Max Z=7xl+5x2

s.t. rx,+2x2 <6
4xl+3xzs 12
X, x,20. 10

Derive the Hawkins-Simon Conditions in case of
atwo-industry input-output model. Also explain
the economic implications of these conditions. 10

- Explain the concept of *Social Rate of Discount'

used in the project evaluation in Cost -Benefit
Analysis. What are the major limitations ' of
Cost-Benefit Analysis. 8+2
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11, Setup the Samuelson's model of multiplier-

accelerator interaction and show that output in
this model will continuously decline towards

zeroif v <(1-+/5)? and will rise continuously

if v > (1++/5)?, where v is the accelerator and s
is the mps. 10
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